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Directions for the following 4 (four)
items:

Read the following four passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage - 1

Researchers simulated street lighting on
artificial grassland plots containing pea-
aphids, sap-sucking insects, at night. These
were exposed to two different types of light a
white light similar to newer commercial LED
lights and an amber light similar to sodium
street lamps. The low intensity amber light
was shown to inhibit, rather than induce,
flowering in a wild plant of the pea family
which is a source of food for the pea-aphids
in grasslands. The number of aphids was
also significantly suppressed under the light
treatment due to the limited amount of food
available.

Which one of the following statements
best reflects the most critical inference
that can be made from the passage given
above ?

(a) Low intensity light has more adverse
effect on the plants as compared to high
intensity light.

(b) Light pollution can have a permanent
adverse impact on an ecosystem.

(¢) White light is better for the flowering of
plants as compared to the light of other
colours.

(d) Proper intensity of light in an ecosystem
is important not only for plants but for
animals too.
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Passage - 2

Approximately 80 percent of all flowering
plant species are pollinated by animals,
including birds and mammals, but the main
pollinators are insects. Pollination is
responsible for providing us with a wide
variety of food, as well as many plant-
derived medicines. At least one-third of the
world’s agricultural crops depend upon
pollination. Bees are the most dominant taxa
when it comes to pollination and they are
crucial to more than four hundred crops.
Pollination is an essential service that is the
result of intricate relationships between
plants and animals, and the reduction or loss
of either affects the survival of both.
Effective pollination requires resources,
such as refuges of pristine
vegetation.

natural

On the basis of the passage given above,
the following assumptions have been
made:

1. Sustainable production of India’s cereal
food grains is impossible without the
diversity of pollinating animals.

2. Monoculture of horticultural
hampers the survival of insects.

3. Pollinators become scarce in cultivated
areas devoid of natural vegetation.

4. Diversity in insects induces diversity of
plants.

Which of the above assumptions is/are valid ?

(a) 1only

(b) 2,3 and 4 only

(¢) 1and 2 only

(d) 3 and 4 only

crops
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Passage - 3

A study conducted on the impacts of climate
change over the Cauvery basin of Tamil
Nadu using regional climate models showed
an increasing trend for maximum and
minimum temperatures, and a decrease in
the number of rainy days. These climatic
shifts will have an impact on the hydrological
cycles in the region, lead to more run-off
and less recharge, and affect the groundwater
tables. Further, there has been an increase in
the frequency of droughts in the State. This
has driven farmers to increase dependency
on groundwater resources to secure their
Crops.

Which one of the following statements
best reflects the crux of the passage
given above ?

(a) Development of regional climate models
helps in choosing
agricultural practices.

(b) Heavy dependence on groundwater
resources can be reduced by adopting
dry-land cropping systems.

(¢) Climate changes increase the criticality
of water resources while simultaneously
threatening it.

(d) Climate changes cause the farmers to
adopt unsustainable livelihoods and
risky coping strategies.

climate-smart

Passage -4

Researchers were able to use stem cells to
gauge the effects of the
environmental pollutant Bisphenol A (BPA ).
They used a combination of biochemical and
cell-based assays to examine the gene
expression profile during the differentiation

neurotoxic
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of mouse embryonic upon
treatment with BPA, a compound known to
cause heart diseases, diabetes, and
developmental abnormalities in humans.
They were able to detect and measure BPA
toxicity towards the proper specification of
primary germ layers, such as endoderm and
ectoderm, and the establishment of neural
progenitor cells.

stem cells

On the basis of the passage given above,
the following assumptions have been
made:

1. BPA may alter embryonic development
in vivo.

2. Biochemical and cell-based assays are
useful in finding out treatments for
pollution-induced diseases.

3. Embryonic stem cells could serve as a
model to evaluate the physiological
effects of environmental pollutants.

Which of the above assumptions are valid ?

(a) 1and 2 only

(b) 2 and 3 only

(¢) 1and 3 only

(d) 1,2and 3

If 3°" is divided by 10, then what is the
remainder ?

(@ 1
() 3
(¢ 7
@d 9

The number 3798125P369 is divisible by
7. What is the value of the digit P ?

(@)
(b)
(©)
(@

O N O -
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Q9.
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From January 1, 2021, the price of petrol
(in Rupees per litre) on m™ day of the
year is 80+ 0.1m, where m=1, 2, 3, ..., 100
and thereafter remains constant. On the
other hand, the price of diesel (in Rupees
per litre) on nth day of 2021 is 69+ 0.15n
for any n. On which date in the year 2021
are the prices of these two fuels equal ?

(a) 21st May
(b) 20th May
(¢) 19th May
(d) 18th May

A biology class at high school predicted
that a local population of animals will
double in size every 12 years. The
population at the beginning of the year
2021 was estimated to be 50 animals. If P
represents the population after n years,
then which one of the following equations
represents the model of the class for the
population ?

(@ P=12+50n
() P=50+12n
(c) P=50(2)™
@ P=50(2)""

In a class, 60% of students are from India
and 50% of the students are girls. If 30%
of the Indian students are girls, then
what percentage of foreign students are
boys ?

(@) 45%
(b) 40%
(c) 30%
(d) 20%

A Statement followed by Conclusion-I
and Conclusion-II is given below. You
have to take the Statement to be true
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even if it seems to be at variance from
the commonly known facts. Read all
Conclusions and then decide which of the
given Conclusion(s) logically follows/
follow from the Statement, disregarding
the commonly known facts.

Statement: Some radios are mobiles. All
mobiles are computers. Some computers are
watches.

Conclusion-I: Certainly some radios are
watches.

Conclusion-II: Certainly some mobiles are
watches.

Which one of the following is correct ?

(a) Only Conclusion-I

(b) Only Conclusion-II

(¢) Both Conclusion-I and Conclusion-II

(d) Neither Conclusion-I nor Conclusion-II

Directions for the following 4 (four)
items:

Read the following four passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage - 1

Fig trees (genus Ficus ) are considered sacred
in India, East Asia and Africa and are common
in agricultural and urban landscapes where
other large trees are absent. In natural forests,
fig trees provide food for wildlife when other
resources are scarce and support a high
density and diversity of frugivores (fruit-
eating animals ). If frugivorous birds and bats
continue to visit fig trees located in sites with
high human disturbance, sacred fig trees may
promote frugivore abundance. Under
favourable microclimate, plenty of seedlings
of other tree species would grow around fig
trees.
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Q 11.

On the basis of the passage given above,
the following assumptions have been
made :

1. Fig trees can often be keystone species
in natural forests.

2. Fig trees can grow where other large
woody species cannot grow.

3. Sacred trees can have a role in
biodiversity conservation.

4. Figtrees have arole in the seed dispersal
of other tree species.

Which of the above assumptions is/are valid ?

(@) 1and 2 only

(b) 3only

(¢) 2 and 4 only

(d) 1,3 and 4 only

Passage -2

At the heart of agroecology is the idea that
agroecosystems should mimic the
biodiversity levels and functioning of natural
ecosystems. Such agricultural mimics, like
their natural models, can be productive,
pest-resistant, nutrient conserving, and
resilient to shocks and stresses. In ecosystems
there is no ‘waste’, nutrients are recycled
indefinitely. Agroecology aims at closing
nutrient loops, i.e., returning all nutrients
that come out of the soil back to the soil such
as through application of farmyard manure.
It also harnesses natural processes to control
pests and build soil fertility i.e., through
intercropping. Agroecological practices
include integrating trees with livestock and
crops.

Q 12. Consider the following:

1. Cover crops
2. Fertigation

Q 13.
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3. Hydroponics

4. Mixed farming
5. Polyculture

6. Vertical farming

Which of the above farming practices can be
compatible with agroecology, as implied by
the passage ?

(a) 1,4 and 5 only

(b) 2,3,4and5 only

(c) 1,2,3and 6 only

(d) 4 and 6 only

Passage - 3

Computers increasingly deal not just with
abstract data like credit card details and
databases, but also with the real world of
physical objects and vulnerable human
bodies. A modern car is a computer on
wheels; an aeroplane is a computer on wings.
The arrival of the “Internet of Things” will
see computers baked into everything from
road signs and MRI scanners to prosthetics
and insulin pumps. There is little evidence
that these gadgets will be any more
trustworthy than their desktop counterparts.
Hackers have already proved that they can
take remote control of internet connected
cars and pacemakers.

Which one of the following statements
best reflects the most critical inference
that can be made from the passage given
above ?

(a) Computers are not completely safe.

(b) Companies producing the software do
not take cyber security seriously.

(¢) Stringent data security laws are needed.

(d) The present trend of communication
technologies will affect our lives in
future.
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Q 14.

Passage-4
A social and physical environment riddled
with poverty, inequities, unhygienic and
insanitary conditions generates the risk of
infectious diseases. Hygiene has different
levels : personal, domestic and community
hygiene. There is no doubt that personal
cleanliness brings down the rate of infectious
diseases. But the entry of the market into
this domain has created a false sense of
security that gets conditioned and reinforced
by the onslaught of advertisements.
Experience in Western Europe shows that
along with personal hygiene, general
improvements in environmental conditions
and components like clean water, sanitation
and food security have brought down infant/
child death/infection rates considerably. The
obsession with hand hygiene also brings in
the persisting influence of the market on
personal health, overriding or marginalising
the negative impact on ecology and the
emergence of resistant germs.

On the basis of the passage given above, the

following assumptions have been made :

1. People who are obsessed with personal
hygiene tend to ignore the community
hygiene.

2. Emergence of multi-drug
germs can be prevented by personal
cleanliness.

3. Entry of the market in the domain of
hygiene increases the risk of infectious
diseases.

resistant

4. Scientific and micro-level interventions
are not sufficient to bring down the
burden of infectious diseases.

5. It is community hygiene implemented
through public health measures that is
really effective in the battle against

Q 15.
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infectious diseases.
Which of the above assumptions are valid ?
(@) 1and 2 only
(b) 3 and 4 only
(¢) 4 and 5 only
(d) 1,2 and4 only

A Statement followed by Conclusion-I
and Conclusion-II is given below. You
have to take the Statement to be true
even if it seems to be at variance from
the commonly known facts. Read all
Conclusions and then decide which of the
given Conclusion(s) logically follows/
follow from the Statement, disregarding
the commonly known facts.

Statement: Some cats are almirahs. Some
almirahs are chairs. All chairs are tables.
Conclusion-I: Certainly some almirahs are
tables.
Conclusion-II:
chairs.

Which one of the following is correct ?

(a) Only Conclusion-I

(b) Only Conclusion-II

(¢) Both Conclusion-I and Conclusion-II
(d) Neither Conclusion-I nor Conclusion-II

Some cats may not be

A boy plays with a ball and he drops it
from a height of 1.5 m. Every time the
ball hits the ground, it bounces back to
attain a height 4/5th of the previous
height. The ball does not bounce further
if the previous height is less than S0 cm.
What is the number of times the ball hits
the ground before the ball stops
bouncing ?

(a) 4

(b) 5
(c) 6
d 7

1
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Q17.

Q 18.

Q 19.

Q 20.

12

T T & SIS vt (918 et #) &
S & Ufafeia ST STaAHT fhaT SITaT ¢
TTH | I UTATeie ot ST fhaet € S S7ue
T 3MHTel o THH feEE T aa € ?

(a) 13
(b) 14
(c) 15
(d) 16

Tah S HHER 370 5 S0 T 31X 10km
T Tt ®, TRt o 31oe =t 3ik gt 2.
3T 20 km TS TATdT €1 98 Y: 37U areit
3R gt ¢ 3T 40 km T TaATd €, R o
3O St AR gt & 2 5 km TS weATdr
219 T 310w TEA BT gt € 37 30 km
TTEY ST 37U sleh Ugeret 8, STEf a8 shred
21 39% 9 3N IHH W F o gAAH Th
frata?

(@) 20 km
(b) 25Kkm
(¢) 30km
(d) 35km

700 | 1000 Teh o YUTiehl skl Geitelg femam T
21390 | fora= qutient #, 3ieRt T ST 10
72

(@)
(b)
(©)
@

Tk HiEelT S @ 3K 12 km gredt €, R ag
JIUT AT 3T 6 km AT SHh 9T Ua ¥ 3
8km Srgdt 2 | 37u wEerT faig | & for fom
He?

(a) TRTO1 - e H 45 T HH BT R

(b) IW-TA | 45 T HH VT TR

(c) <R - gd H 45 T ifere HivT W

(d) IIR-Td | 45 T 31k BT R

O 0 N O
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frratafad 4 (IR ) wy=io o foe fder:

F few T =R wiese i uiey Sk uiEse % 9
3 aTel WIS o SR SIfTT | 39 weiel & forg
3Tk IR had 39 UR=Pel W B T B
iU |

ufese-1

Sl 3R STofary Yae Hfq-frmfor & & § wra
AUl ST SfersT T WHEAT 2 @1 § | GHeAnd
2 §: SHaTeH $o Y SeuTe aTensh H SR
T8 T AT % e faselt 8k @ g &
YR o i Hifhd T IR afvae oot &
el | do & A ® 9f; fastel & FRR gom
frafzor 3R SmEe it EifEl o Boaey fastel
1 rcafersy HHT srera sifafiea Sy, Haer 7€
T&l, qfH, S 991 9 W gl g3l gAieRviT
fqarg | fhg e wa a1 FoRmemSTe off T €
Gd TU HTl eIl HTAshH; Tehlhd @RI AR
ufae =ifd T ==, St qe Ugd 3 Sl gReT
g % 1T 3 WA, SR e ST 'q
el e, 9ol & gl G Fehou daR Tl
®, a3 afad= ot M H AR Yehd A 2 |

Q21. fr=faRed & | SH-T1 He Suder UResg o

Haiferes fFoTieeh 9T URga ST & ?

(a) WA % Sl [FOTFA i Wisha Hod Sifed 3K
3id: Hefeq 2 |

(h) RA ST AR Serary e TR ferhre
% T o fTT STcuifrss gETa € |

(c) WA S FS1 MR STetar] Heeht e, qh
Tk HHITS, 3 3R qafeRois wedi &
7T ST TE € |

(d) ST o St (7015 <kt feha el AR R 3l
3@ § 3R i ge1 o SUeT HA B |
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Q17.

Q 18.

Q 19.

Q 20.

Images of consonants of the English
alphabet (Capitals) are observed in a
mirror. What is the number of images of
these which do not look like their
original shapes ?

(a) 13
(b) 14
(c) 15
(d) 16

A bank employee drives 10 km towards
South from her house and turns to her left
and drives another 20 km. She again turns
left and drives 40 km, then she turns to
her right and. drives for another S km. She
again turns to her right and drives
another 30 km to reach her bank where
she works. What is the shortest distance
between her bank and her house ?

(@) 20km
(b) 25km
(¢) 30km
@ 35km

Integers are listed from 700 to 1000. In
how many integers is the sum of the
digits 107?

(@
(b)
(©)
@

A woman runs 12 km towards her North,
then 6 km towards her South and then 8
km towards her East. In which direction

O 0 N O

is she from her starting point ?

(a) An angle less than 45 South of East
(b) An angle less than 45 North of East
(¢) An angle more than 45 South of East
(d) An angle more than 45 North of East

Q21.
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Directions for the following 4 (four)
items:

Read the following four passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage - 1

India faces a challenging immediate future
in energy and climate policy-making. The
problems are multiple sputtering fossil fuel
production capabilities; limited access to
electricity and modern cooking fuel for the
poorest; rising fuel imports in an unstable
global energy context; continued electricity
pricing and governance challenges leading to
its costly deficits or surplus supply; and not
least, growing environmental contestation
around land, water and air. But all is not
bleak: growing energy efficiency
programmes; integrated urbanisation and
transport policy discussions;
enhancing energy access and security; and
bold renewable energy initiatives, even if not
fully conceptualised, suggest the promise of
transformation.

inroads to

Which one of the following statements
best reflects the critical message conveyed
by the passage given above ?

(a) India’s energy decision-making process
is ever more complex and interconnected.

(b) India’s energy and climate policy is
heavily tuned to sustainable development
goals.

(¢) India’s energy and climate actions are
not compatible with its broader social,
economic and environmental goals.

(d) India’s energy decision-making process
is straightforward supply-oriented and
ignores the demand side.

13
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Q 22.

Q 23.

14

=g - 2

T e o € fop R | o= S At 5w
iersifares sifeet (Ufeamfean) gfgsren (W
THlex ) o &9 § Fape (Negt) 3 1= IRE B
fgeté ST ¥1 3 siofedi % ofd wEm @ @
FOREAT SR AT Seq—T &1 Tehel &, i1 g~ 3wt
% o el 21 oiie St wedi & of waw o W
21 Y TOd TR, FP FFpe U HutrEr |
Fapel 1 oel W au de o g SHuferEr
TN W Y fEd § 11990 % €3 W ST SA
Afcriferss IfgehRe (W R Yfeamifesd) &
T R U A 2, S YRR R
el ¢ foh atferes T # g e B @ ® - 3R
a1 | off A wH B ® B

frrmfafea & | sH-a1 wer Suded uiese o
Hafereh fHUTioeh H9T T d hiaT ¢ ?

A ! Y- SeTGt o Yo | S =T |
e ¥ 3 T v & T WU o
I e YTl ST SURINT AT =Ry |

(c) T W Hfersiteren il (Yeamifea) &
W R e g =Ry

it SASRrET 1 =T Sharet AT o STER
o foru €t fepa <t =nfee |

uf=se- 3

Hife-frafarst s S-SR "Wegdi (dfgan) 3
TTe TeTe Skt STTEHT Sl SiHd! o [oTT e HIehi
1 gl Ig B, T S w3 iEd, THE
WY IcaTee o § T HEH 3R el gere
% IeaTe % foTe gfer w1 SuEnT wnfirer @ 1 R of,
Haiferr MaTe drell Ul e srefeawensi 9
wrg verdl #t A 9fg W it 5 =
21 T9Y 39 91 F 5ga ATk Gura 5=t € foR
T < H e wud 9 @" 96 S 8l
Hhare |

Sudea uftedg & wed #, frafafaa geamomd
TAETEE :

(@)
(b)

(@
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1. QT Iere o S Yol ol Uk HRUT el SIS
e

2. e fepe wfesy , fova o @@ dehe 30—
BT, <l I8 SRl gg sreferrereenshi 4 g |

S W W -G g R/ geuRod A /e 2

() a1
(b) HEA 2
© 1322
@ A, AL

UR=sE - 4

YTk e STefeTTe il J&a Tew o1 o gfig 1
Hewd <1 €, FSre e et wRe] 3ae (S
ad) F oz ¥ 31 Rigi, 7o 5 AAD,
USRS 091 & 1R GRTa o=l €1 < forsit
T dw A o H ofs B 2, R St @ d @
TR e o o, e aRaR, TS 3R R 3T
Stre o foTT tavaes Sl & Iaded oq o M
W e @A | SRR g9 Bid B | 3 e
vl (SaeuHe wfede) °, stend. i@
HETEUl T W 37 T ¢ foF AfE g “anfien afy”
I IooRd AT €, Al 8 ST I ¢ foh ST e
Sad dafs e

SUger Ufee o Wey |, fFrfatad yaamomd

TETEE:

1. e g i <. O, ford T bl ferfra ewr e
& foru sfrer 2 1

2. wgdigg i, . 9. |l uReri & o1 o1
fereron iy et 21

ST H T -G qdRT/qeeRomd 7 2/ 2
(@) a1
(b) e 2

© 1322
@ @1, A2
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Q22.

Passage-2

There are reports that some of the antibiotics
sold in the market are fed to poultry and other
livestock as growth promoters. Overusing
these substances can create superbugs,
pathogens that are resistant to multiple drugs
and could be passed along humans. Mindful of
that, some farming companies have stopped
using the drugs to make chickens gain weight
faster. Since Denmark banned antibiotic
growth promoters in the 1990s, the major
pork exporter says it is producing more pigs-
and the animals get fewer diseases.

Which one of the following statements
best reflects the critical message conveyed
by the passage given above ?

(a) People should avoid consuming the
products of animal farming.

(b) Foods of animal origin should be replaced
with foods of plant origin.

(¢) Using antibiotics on animals should be
banned.

(d) Antibiotics should only be used to treat
diseases.

Passage - 3

Policy makers and media have placed the
blame for skyrocketing food prices on a
variety of factors, including high fuel prices,
bad weather in key food producing countries,
and the diversion of land to non-food
production. Increased emphasis, however, has
been placed on a surge in demand for food
from the most populous emerging economies.
It seems highly probable that
consumption in these countries could be well
poised to create a food crisis.

mass

Q 23.
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With reference to the above passage, the
following assumptions have been made:

1. Oil producing countries are one of the
reasons for high food prices.

2. If there is a food crisis in the world in the
near future, it will be in the emerging
economies.

Which of the above assumptions is/are valid ?

(@) 1only

(b) 2 only

(¢) Both 1and?2

(d) Neither 1nor 2

Passage -4

A central message of modern development

economics is the importance of income

growth, by which is meant growth in Gross

Domestic Product (GDP ). In theory, rising

GDP creates employment and investment

opportunities. As incomes grow in a country

where the level of GDP was once low,
households, communities, and governments
are increasingly able to set aside some funds

for the production of things that make for a

good life. Today GDP has assumed such a

significant place in the development lexicon,

that if someone mentions “economic growth”,
we know they mean growth in GDP.

With reference to the above passage, the

following assumptions have been made :

1. Rising GDP is essential for a country to
be a developed country.

2. Rising GDP guarantees a reasonable
distribution of income to all households.

Which of the above assumptions is/are valid ?

(@) 1only

(b) 2 only

(¢) Both 1and 2

(d) Neither 1nor 2

15
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Q 25.

Q 26.

Q 27.

Q 28.

AT P, Q, R, S, T, U 3 V AIe-|rer W&t
FIR, Q 3R T ¥ 3MTeR0T et & 37T 31T YeAeht
% SRV AT TTH & 1 Hae S 3T U 78 e &
39 s QO E 1 P, R 31 S fafer | R €
9T TofeaT &1 et SMMeRuT arer W e
HA-TE?

(@ QSRR
) QIRU
© QRT
@ T3IRU

T feu e 3 3, 2, 7, 4, 13, 10, 21, 18, 31,
28, 43, 40, T US ohl el U W oge, STEl forsd
UE 3R HH Ug HHH U ot STTEUT I & |

(a)
(b)
(c)
(d)
T ufafteat s eTe e fear e # (ufafeat
ferta Tk Ffyera vt sT SITERT At §
ASTER ST Ufafee ( ?2) Tl =g it |

™ W = O

7B |10A |3c
3C 9B 6A
10A 13C ?
(a) 9B
) 3A
(©) 3B
@ 3C
e 3 iferret & S waww srgwE e T E
IIHU-1: |8 |4 |6 |15 |52.5 |236.25

3gPu-ll: |5 |A [B|c |D E
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SHA-TI o fTT C & T W o1 wfafe & 2
(a) 2.5

b) 5

(¢) 9.375

(d) 32.8125

Teh e X, TATT A |/ 9T Ueh 31 e Y,
T B | Uk & AT U Teh-TH ol 3T T T
IR T ¢ | ST TATHT o ot &l it 15 km
21X, 1.5 km/hr & THTHE 96 Y T4T 2 |
3N Y U 5 W 1 km/hr &t THTATT AT 4,
TEES | 1.25 km/hr ot THEHT AT € T
TR 8 | 1.5 km/hr i THAATT IOTd &
AT & 3R TH TR 3T oY Tet=r St @t
2

o § @ -9 / FH-T TR/ ?
1. AT Rl e 5 w5 1 HHE ST |
2. A A T B TFT ok Sie-sie el
2t fT T e 1 T Y TR SR g

(a) a1
(b) HAA 2
© 132
d) AWM, AE2

e Taramelt ukien & 6 UP-US § SadT ¢ | Ui
UYT-UF % foru ifreraw ik TwEE ¥
UI9T-TN W SHR UTAieh 5:6:7:8:9: 10k
IquTa & &1 Fer feTra I 60% 3w U
form | SEA foras Ug-usit § 31firerdw 3iehl &
60% W 'HN 3ich ured fomu ?

(@
()
(©)
@

u B~ W N
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Q 25.

Q 26.

Q 27.

Q 28.

Seven books P, Q, R, S, T, U and V are
placed side by side. R, Q and T have blue
covers and other books have red covers.
Only S and U are new books and the rest
are old. P, R and S are law reports; the
rest are Gazetteers. Books of old
Gazetteers with blue covers are

() QandR
(b) Qand U
(¢) QandT
(d) TandU

Replace the incorrect term by the correct
term in the given sequence

3,2,7,4,13,10, 21, 18, 31, 28, 43, 40 where
odd terms and even terms follow the same
pattern.

(@) O

(b) 1
(c) 3
(d 6
Following is a matrix of certain entries.
The entries follow a certain trend row-
wise. Choose the missing entry (?)
accordingly.

7B 10A |3C
3C 9B 6A
10A | 13C ?

(a) 9B
(b) 3A
(c) 3B
(d) 3C

You are given two identical sequences in
two rows:

| Sequence-l: | 8 | 4 | 6 | 15 | 52.5 | 236.25 |

Q 29.

Q 30.
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[s[afefc [p Je |

| Sequence-ll:

What is the entry in the place of C for the
Sequence-II 7

(a) 2.5

(b) 5

(c) 9.375

(d) 32.8125

A person X from a place A and another
person Y from a place B set out at the
same time to walk towards each other.
The places are separated by a distance of
15 km. X walks with a uniform speed of
1.5 km/hr and Y walks with a uniform
speed of 1 km/hr in the first hour, with a
uniform speed of 1.25 km/hr in the
second hour and with a uniform speed of
1.5 km/hr in the third hour and so on.

Which of the following is/are correct ?

1. They take 5 hours to meet.

2. They meet midway between A and B.
Select the correct answer using the code
given below:

(@) 1only

(b) 2 only

(¢) Both 1and 2

(d) Neither 1nor 2

A student appeared in 6 papers. The
maximum marks are the same for each
paper. His marks in these papers are in
the proportionof5:6:7:8:9:10.0verall
he scored 60%. In how many number of
papers did he score less than 60% of the
maximum marks ?

(@
(b)
(©)
@

U W W N
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Q 31.
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frrefafiad 4 (aR) wg=ien & fera fder :

= feu T =R 9R=sel i ufe SR uiesel & A
M T YA o STR SIS | 37 weel o foIg
31Tk TR shelel 31 qR=a] 9L & 3 e =Ry |

ufese-1

qorRioa enfifer Twerdl % gew W, A uow
S Bl ST UH BT MeheTT HIH o (I HET
W, o g o w9 § UM e o1d e S S erd
2l fohg o 3 Th-gER o o T el # €,
ar o & T H TH g 9 T B0 S He @,
S T e ¥ e &, Tl farva e & o Ed
forga e 21

SUged URedE % MUR W, WAl
TGS ETRUT IS & Hhet & ?

(a) g F Al orgi enftier Hyer =1 STamedt o=
fomT e =i el e FohaT |

(b) Tk ekl ol A ¢ foh 98 U enfifen
YT 1 WER 1 |

(c) e TR H A Y Tehdl st SURT A
=i ygf B 2 |

(d) N 9 efier Ever ol T8 THEd B 1

ufese - 2

g e 2 foF Tolle, I, iR fafy (=if) #t
T AU Iocio Bl TS B (TR T
IAT T8l Al S Wehal, fSa foh 39 SRSy
(Sifafr=a) =t < feafd & | ifer, Te ST
®9 Y A1 o fTT Suger =8 8 €, g 3=
ARehel & fIT Sugea o=@ ST =e) sHe
Sfafed, T H Aafifes TaTe wes T B B
3R A sferar aifues wadt Bt 7, oIk fRe
TeHEd (HETIeY) W, TR TeHed Hi goT o
fren SOy B €, dl 98 Fived @ o e
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SZHSA = Tehell o o8] o [ qaied &9 9 9
TG R 7, 3R A & qd - R ees s fafer
T €; 3R e, 98 TS & w9 | 3
IIHR i TeadX S | fahel W R |

SUde UiesE & MR W, frafafea § 9
THIF-|T Fifreh TehETTd 3T faaemyul frremd
T ST AT ?

(@) YSH IRRST § IR, s R e &
Ieefe SAREH ¢ |

b)) TFd sftre o Wt goenst & fau gy
(Wifer ) STRErRR &Il 2, 7 fo S|

(c) T RRTST HATH € S Tehell & e & foIg
TG el € 3R e I G- (T8
fafesmidm) o forg fafer (=) 21

(@) AR 3Tt AR Tt Y 9T SrEE
2l

uf=se- 3

AT 39 T SAlhditieh UaHIeh 6l Socio
T B fop Teft AR T € | S o8 GeY g,
S Fh Ted fersraisii & Hau § wfaa & §
Bl 2, T o | Y W IS T ¢ | e
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Q 31.

Directions for the following 4 (four)
items:

Read the following four passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage - 1

With respect to what are called denominations
of religion, if everyone is left to be a judge of
his own religion, there is no such thing as
religion that is wrong; but if they are to be a
judge of each other’s religion, there is no
such thing as a religion that is right, and
therefore all the world is right or all the
world is wrong in the matter of religion.

What is the most logical assumption that
can be made from the passage given
above ?

() No man can live without adhering to
some religious denomination.

(b) It is the duty of everyone to propagate
one’s religious denomination.

(¢) Religious denominations tend to ignore
the unity of man.

(d) Men do not understand their own
religious denomination.

Passage -2

It is certain, that seditions, wars, and
contempt or breach of the laws are not so
much to be imputed to the wickedness of the
subjects, as to the bad state of a dominion.
For men are not born fit for citizenship, but
must be made so. Besides, men’s natural
passions are everywhere the same; and if
wickedness more prevails, and more offences

are committed in one commonwealth than in

Q 32.
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another, it is certain that the former has
neither enough pursued the end of unity, nor
framed its laws with sufficient forethought;
and that, therefore, it has failed in making
quite good its right as a commonwealth.

Which among the following is the most
logical and rational inference that can
be made from the passage given above ?

(a) Seditions, wars and breach of the laws
are inevitable in every dominion.

(b) It is not the people, but the sovereign
who is responsible for all the problems
of any dominion.

(¢) That dominion is the best which pursues
the aim of unity and has laws for good
citizenship.

(d) It is impossible for men to establish a
good dominion.

Passage - 3

Inequality violates a basic democratic norm:
the equal standing of citizens. Equality is a
relation that obtains between persons in
respect of some fundamental characteristic
that they share in common. Equality is,
morally speaking, a default principle.
Therefore, persons should not be
discriminated on grounds such as race, caste,
gender, ethnicity, disability, or class. These
features of human condition are morally
irrelevant. The idea that one should treat
persons with respect not only because some
of these persons possess some special
for example skilled
cricketers, gifted musicians, or literary
giants, but because persons are human
beings, is by now part of commonsense
morality.

features or talent,

19
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@ 20
b) 30

(¢) 307 3ITH FHH
@) 309 3TY Ao

T I (-5 3iehi o TET (3Rl
TG o foAT) & Ut 3 3feni drett |t
Tt U TR ST S 3 % uTS 1 W
FTSTT S HEAT3i &l ANThe S € | Frefaiaa &
Y HA-T/ FA-G TN E/E ?

1. SHT74 YT R
2. STFOANHALI
e T 7T Fe T T R e I G -

(@) a1
(b) HAA 2
© 1322
@ A1, AL




www.khanglobalstudies.com

Q 33.

Q 34.

With reference to the above passage, the
following assumptions have been made:

1. [Equality is a prerequisite for people to
participate in the multiple transactions
of society from a position of confidence.

2. Occurrence of inequality is detrimental
to the survival of democracy.

3. Equal standing of all citizens is an idea
that cannot actually be realised even in a
democracy.

4. Right to equality should be incorporated
into our values and day-to-day political
vocabulary.

Which of the above assumptions are valid ?

(a) 1and 2 only

(b) 2 and 3 only

(¢) 1and 4 only

(d) 3 and 4 only

Passage -4

Aristocratic government ruins itself by
limiting too narrowly the circle within which
power is confined; oligarchic government
ruins itself by the incautious scramble for
immediate wealth. But even democracy ruins
itself by excess of democracy. Its basic
principle is the equal right of all to hold
office and determine public policy. This is, at
first glance, a delightful arrangement; it
becomes disastrous because the people are
not properly equipped by education to select
the best rulers and the wisest courses. The
people have no understanding and only
repeat what their rulers are pleased to tell
them. Such a democracy
autocracy. -Plato

is tyranny or

Which one of the following statements
best reflects the crux of the passage
given above ?

Q 35.

Q 36.
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() Human societies experiment with
different forms of governments.

(b) Any form of government tends to
deteriorate by excess of its basic
principle.

(¢) Education of all citizens ensures a
perfect, functional and sustainable
democracy.

(d) Having a government is a necessary evil
because tyranny is inherent in any form

of government.

In a group of 120 persons, 80 are Indians
and rest are foreigners. Further, 70
persons in the group can speak English.
The number of Indians who can speak
English is

(a) 20

(b) 30

(¢) 30or less
(d) 30 or more

Consider all 3-digit numbers (without
repetition of digits) obtained using three
non-zero digits which are multiples of 3.
Let S be their sum.

Which of the following is/are correct ?
1. Sis always divisible by 74.
2. Sisalways divisible by 9.

Select the correct answer using the code
given below:

(@) 1only

(b) 2 only

(¢) Both 1and?2
(d) Neither 1nor 2
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Q 37. SrHAT3 A 3T B HHAE: 25 317 30 faamefi &l @ 39. SrHuFT 37X Teh Uy W Fomm shifse :

Q 38.

22

T -A T ARMHAT Uik 21 ¢ qAT FAGH
UTWies 17 & | hell -B § 3Ieeha™ Uik 30
AT ~IAqH Uk 22 €1 hall -A | 4 ferameft
T -B H TIHARd fhT ST & |
frfeRad wemt R foar Fifse -

1. Ha7-B o 39 Uredieh Fived 9 9 5 |
2. HE-A NG Urdien FivEd ®9 9 T |
Yo el T W HH-E1 / HA-H W /e ?

(@) Had 1

(b) e 2

© 13K 230
@ JAd1,TAE2

W HYUAT 3T Tk U9 W e i :

HUT - 1: TR, T 9 4 T 9 R ol v e
A 319 WA W

FHIT-2: T, G 9 2 T FR ¢ 3R 999 s
WY 37d LH WL

U9 : 40 feenfi=i =l wen o, oY T | |
- TR ?

FUAl 3R U & ded ¥, Frefafed § 9 iH-a
e ?

U9 ol ST e o [T shael ho=-1 9T et
2

W9 1 TR o & FoTU shelel he-2 A e
g

(c) T 1 ST & o [T 31 Al sheel HEd —1
heel HUF-2 T B

T 1 SR o & [T HeF -1 3R FHUA-2
S SMETTTRAT R

(@)

(b)

@

Q 40.
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HIT-1: A IRD HYYSF, B, E SIRF A YSF Y
31fereh 9 2, fohe 57T O RIS off W 3ifirek 9k et
i1

HAT-2: A, D T 31k 9 2, fhg C I g 2|
UYT: A, B, C, D 3R E § Tad 34k 9 i & ?

FHUA 3R U & ded ¥, Frefaiad § 9 SE-|
TEE?

(a) I 1 ITR S o 1T sherel - 1 e &

(b) ¥ 1 TR < o T hearet -2 9o &

() T H ST o & U HUT -1 3R HUF-2
ST AT ©

WY 1 ST o foIT 7 <l Sheret -1, T8
hael HUF-2 T B

JFUSH TUTHTAT H, TR 4 372N faudia w1 &
o o4 &; 31 3TTet 4 e faufia e & ford
A 3R AT oft 34t e forea St 2; 31K 3id
T Y 3R Z ol TR aeT [T Srar g | 138 3181
& TEIT ST e TR HIA-|T &I ?

(@ N
() T
(¢ H
@d 1

(@
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Q 37.

Q 38.

There are two Classes A and B having 25
and 30 students respectively. In Class-A
the highest score is 21 and lowest score is
17.In Class-B the highest score is 30 and
lowest score is 22. Four students are
shifted from Class-A to Class-B.

Consider the following statements:

1. The average score of Class-B will
definitely decrease.

2. The average score of Class-A will
definitely increase.

Which of the above statements is/are

correct ?

(@) 1only

(b) 2 only

(¢) Both 1and 2
(d) Neither 1 nor 2

Consider two Statements and a Question:

Statement-1: Priya is 4 ranks below Seema
and is 31st from the bottom.

Statement-2: Ena is 2 ranks above Seema
and is 37th from the bottom.

Question: What is Seema’s rank from the
top in the class of 40 students ?

Which one of the following is correct in
respect of the Statements and the Question ?

(a) Statement-1 alone is not sufficient to
answer the Question

(b) Statement-2 alone is not sufficient to
answer the Question

(¢) Either Statement-1 alone or Statement-2
alone 1is sufficient to answer the

Q 39.

Q 40.
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Question
(d) Both Statement-1 and Statement-2 are
required to answer the Question

Consider two Statements and a Question:

Statement-1: Each of A and D is heavier
than each of B, E and F, but none of them is
the heaviest.

Statement-2: A is heavier than D, but is
lighter than C.

Question: Who is the heaviest among A, B,
C,DandE?

Which one of the following is correct in
respect of the Statements and the Question ?

(a) Statement-1alone is sufficient to answer
the Question

(b) Statement-2 alone is sufficient answer
the Question

(¢) Both Statement-1 and Statement-2 are
required to answer the Question

(d) Neither Statement-1 alone
Statement-2 alone is
answer the Question

nor
sufficient to

In the English alphabet, the first 4 letters
are written in opposite order; and the
next 4 letters are written in opposite
order and so on; and at the end Y and Z
are interchanged. Which will be the
fourth letter to the right of the 13th
letter ?

(@) N
) T
(c) H
d 1
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Q 41.

24

frrafefad 4 (IR ) ug=ion o fera fdom:

== feu e =R uf=se) i 9o SR aesel & A
3 aTel WIS o SR SIfTT | 39 weAiel & forg
3Tk IR had 39 UR=Pel W B AURd B
iU |

ufese-1

“afiten T | e o o fereme T 8 ehar, B
T HeAld ¥ 1 A g Hel S Teh, Fh
Teeh Sferd S S ieh T | @l €, 98 el 310
& T BT AT Tl €, 3R T S o IR A
el <k o STk 31T I ol Fa €, 3T o1 R I
fofa e B, ol @ w1 e off fafer (=) %
Jiid 319 e 317 ot o Wi St =18t Al
®; 3 zEfory, =efifer T | 31Oy & el e
I ST Fehdll, sheret faferet o9 o &) UEn 9vd §, STl
YT TeHfd § 3= A1 §) 1 ol R S €,

3R T S T ol TS & Ui SAER) Hidl

g1

frafeafaa o & SF-91 woe Sugded uiese &
et fere st gatan s A gonar e ?

(a) R T @ - 3 SRS 59 o femfor
% HROT SRAA T 2 |

(b) G AT S - TH IR T 57 ek hlE IMEh
iRt e et <iar, g st =afer Ao w9
Y T -TEl Bl Wb |

(c) —Hfifer T o e Tnwifas ®9 9 3
3R @i BT B |

(@) T G A T € - Fe R " S 6
ITsHfad % foe stavaes 2 1

ufesg - 2

ST e o, & ¢ 7w - F6H s
(fEfpfEm Rfesim)  wd JERfaE
(sifear ), 3D fafsmior, Jreent i AT & AR

TS T AOreifed BRI Rl S@dl  GUFhI
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(FHTERFRR) TE | 36 fashe Ter e
BN | 29 Afdes 99 ) ur: foem feen e @ e
TereRRfEd R 1o 1 7 el geifes (et )
%l THFR AR TG 3T Teh 3R HSH R I
fewred & & o | ol 8 ol | gHen ST
T €, WA A SHa H T=EL SR S o
feha I TR FR HI 1 AT - F1 Fad 39
19 =l = 9= 9l geifae g9 R A 3e
31 ? AfS ITeTeRied SR safer o g, df ot
I B 2 SR ofa smeRe W il =
SHfTmIT o HISE %R 1 Gel heer@eh H, I
ftRY BerTe | Hisg o8 ieedoR R w0, fE
FR H SRV e | T g 2 A -
A &R & HIa-Sia i JrafEesar 3 %
AR ¥ for-fort gew frem (e fie) 2, < 7w
TR (greeere) fofe A S o fre
e ot ot R aRe wfaa s 2—
U UR=] & IMER W, Fr=fafea & &
FIT-| T ferdenyut, Jferged Td et
fafearat e geTia € ?
1. 3rcueh Sedieheor Rl oft 91 o waH & o
TR
2. 3MYFTR iRl sl Wt W os @
e Wi €|
3. TOER R EH A T F SR & W
SfersheT o e 2 |
4. VA T F AR A s Fel sofd
ST (TTE =7) & forehre W Sfed et
=fzy|
5. Y-USHIA A W wE  swediel @R
SFTardarsi 1 FRIehoT a1 31T |

et T T e T TR R W IR G

(@) HEIA1, 435
(b) HEA1, 2, 3 A 4
() HaA2,33R5
@ 1,2,3,4 315
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Q 41.

Directions for the following 4 (four)
items:

Read the following four passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage - 1

Nothing can exist in a natural state which
can be called good or bad by common assent,
since every man who is in a natural state
consults only his own advantage, and
determines what is good or bad according to
his own fancy and insofar as he has regard
for his own advantage alone, and holds
himself responsible to no one save himself
by any law; and therefore sin cannot be
conceived in a natural state, but only in a
civil state, which is decreed by common
consent what is good or bad, and each one
holds himself responsible to the state.

Which one of the following statements
best reflects the central idea of the
passage given above ?

(a) The conceptions of what is right or
wrong exist due to the formation of a
state.

(b) Unless a ruling authority decides as to
what is right or wrong, no man would be
morally right.

(¢) Man is inherently immoral and selfish
in a natural state.

(d) The idea of what is right or wrong is
necessary for the survival of human
species.

Passage -2

In the immediate future, we will see the
increasing commodification of many new
technologies - artificial intelligence and
robotics, - 3D manufacturing, custom made

Q 42.

PAPER -1I

UPSC CSAT 2021

biological and pharmaceutical products,
lethal autonomous weapons and driverless
cars. This will pose conundrums. The moral
question of how a driverless car will decide
between hitting a jaywalker and swerving
and damaging the car has often been debated.
The answer is both simple - save the human
life - and complex. At which angle should the
car swerve - just enough to save the
jaywalker or more than enough? If the
driverless car is in Dublin, who would take
the decision ? The Irish Government, or the
car’s original code writer in California, or a
software programmer in Hyderabad to whom
maintenance is outsourced? If different
national jurisdictions have different fine
print on prioritising a human life, how will
it affect insurance and investment decisions,
including transnational ones ?

Which of the following statements best
reflect the rational, plausible
practical implications that can be
derived from the passage given above ?

and

1. Too much globalization is not in the best
interests of any country.

2. Modern technologies are increasingly
blurring the economic borders.

3. Innovation and capital have impinged
on the domain of the State.

4. Public policy of every country should
focus on developing its own supply
chains.

5. Geopolitics will have to reconcile to
many ambiguities and uncertainties.
Select the correct answer using the code

given below:

(a) 1,4 and 5 only

(b) 1,2,3and 4 only

(¢) 2,3 and5only

(d 1,2,3,4and 5
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Q 43.

26

uRede- 3

feamen iR whee staradr e (Fe) & IFTER
TR el & fearferan Al o6l SHTen f3 =,
1 9 st Ui (T, ) feofs s 5o g
e Al 3 o WeTae B Hehdl © | TS e
fafr sifrereor 5T forT ST aret et < wifey efed
B & qTeE, T diedr 96l w-=ehi | S s
I AR (ST 319 ) A § TeTIE B TR 2 |
Trdsitien &5 o Senl 1 YA Ut o Seni
ToEe G5 (e ) T R 3% e
1 S 31 afeies wffafin o sreran o7 & for aRa
F W HeE o Wbl ¢ | foh, sled st @
TETEM 3R T: GoflehvoT, S FHIE 1 Ueh SITHE
&€, Fifeh o ST AFTHR 791 B Ak o gl HH &
TETF B Ghd B, e 9 AT yomeh @
ST TAHM S e § o @el fh 7 | 5
qo JERUIT W1 GHE & GHEH % g
TOTEATT YR 76} fohY ST €, e deh Wil S1-=igh
e oIl TR e STefd T |

U URTSE o STER, Fefaiad weHi # 9
HIA-AT  HaAlReh dehE T, fodeRgul 3R
TR HETel ol Sga? AT 2 ?

(@) SRt 5T U A AT T H GO ST

(HFieR) SR Fo fofEee shg SR

HT AT

= W e e @ S =R, e e

3iferek 1 <4, W1 g Bl Wieded A 3R

3o SIRY 3Affer Tifafafer st sreran e @& foe

el ol TR foman < He |

(c) oE sehl o1 H o Sebi H fererd AT &l sehi hl
THR T 3R 37k T e w1 skl
1 elepTioTeh THIEM R |

(d) 3TN BT o THE & Sreiehiereh U &

(b)

Q 44.

Q 45.
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®Y H, WRA ST Ol § HEHHs JUR
AT R |
TR=T - 4

Id |, Al 3nfefer e 1 e @i & 3nfien
HUT o 9T 2, 3 G gufte sufdfe g =
forgit ot wman (), A e = I, gl
I o Efsh T TR & fom, Tads w9 9 e @l
Y Fehell |

frrafefiaa & @ -1 e, Suger ui=se
3u-fagia s SEav goTaT g ?

T 9 TR ¥ Tdd Bl S T8l
HehdT |

TR 1 faeia SRy 3R geensti &1 e
fafr=rm= e =fgu

(c) IR 3ffeTaee Geh ! FHrsTarel =il &
AR R

QAT o 3AIffeh SHeaoT shl S o forg feri &t
T GUR SEIH S |
e IR w faar s :

(@)

(b)

@

EATRE g uaRH
TUMHE  FARENR  FRmE

61 99 14 76
05 12 50 85

15 75 20 50
13 55 12 50
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Q 43.

Passage - 3

The resolution of bankruptcy cases of Indian
banks under the Insolvency and Bankruptcy
Code should help bring non-performing
assets (NPA ) situation under some control.
Despite the slow pace of resolutions by the
National Company Law Tribunal, the Code
can be helpful in cleaning up bank books in
future credit cycles. The recapitalisation of
public sector banks too can help increase the
capital cushion of banks and induce them to
lend more and boost economic activity. But
bad debt resolution and recapitalisation are
only a part of the solution as they, by
themselves, can do very little to rein in
reckless lending that has pushed the Indian
banking system to its current sorry state.
Unless there are systemic reforms that
address the problem of unsustainable
lending, future credit cycles will continue to
stress the banking system.

Which one of the following statements
best reflects the most logical, rational
and practical suggestion implied by the
passage given above ?

(a) Lending by the banks should be closely
monitored and regulated by the Central
Government.

(b) Interest rates should be kept low so as to
induce banks to lend more, promote
credit growth and thereby boost
economic activity.

(¢) Merger of many banks into a few large
banks alone is the long-term solution to
make them viable and prevent their bad
performance.

(d) Indian  banking

system  requires

UPSC CSAT 2021

structural reforms a long-term as

solution for bad loans problem.
Passage -4

In India, the objective of macroeconomic
policy is to enhance the economic welfare of
the people, and any one wing of such macro
policy, monetary or fiscal, cannot
independently work without active support
of another.

Q 44. Which one of the following statements

Q 45.

Player

o 0O w >

best reflects the corollary to the passage
given above ?

() The central bank cannot work
independently of the Government.

(b) Government should regulate financial
markets and institutions closely.

(¢) Market economy is not compatible with
the socialist policies of the Government.

(d) Financial sector reforms are required
for enhancing the economic welfare of

the people.

Consider the following Table :

Runs Balls faced Runs Balls faced
scored in in the first scored in in the
the first innings the second second
innings Innings innings.
61 99 14 76
05 12 50 85
15 75 20 50
13 55 12 50

PAPER -1I

Who is the fastest run scorer in the Test
Match ?

(a) A

(b) B
(c) C
(d) D
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Q 46. TH UTH H M UHATIIAT & 37UF W T 1/5 Q 49. 9 faU U & e 3R IR forsewst W faem

Q47.

Q 48.
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TTHATHT &1 S Tt e & 1 1/3 TTHaTET 91e’
#1 4/5 Tt @ oy 25 O | W T
frrefafaa woa 7 9 w-ar FRTa sra a@
272

(@) AT IR HieR 2, feeh O S TR e
(b) 25 o W HH Y A FS WHAH A |
(c) hael Y THAT FI&R 8 S &1 ol Biell hd
gl

25 9% W HE Y A R off AHad &% e
TSR TR 2 |

A HUAT 3TN Tk U9 W e i :

HF-1: foRdl w18 1 3ifer e gear @1
HUF-2: 3T HIE I JAT AFER 3TH 1741 A B |
U9 : 39 918 % 149 e shiH-TaR @ ?

FHoA AR we & Heol ¥, Fretefaa § 9 SE-w
TEE ?

(a) T 1 ITR S o fIT herel o -1 T &
(b) I 1 ITR S o fTT shelel HeH-2 Taiw ©
(c) T 1 ST e & fIT HeA -1 SR HUA-2
ST ST &

Y 1 ST S o {78 1 dl shered e -1, TE
el HA-2 T §

10 TS, 2027 THIA-TT AR BN ?

(a) TaaR
() WHER
(c) WHITAAR
(d) ER

@

@
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THITSTT | STTUShT 3 SheIHT ohl &l HIFd §¢ U1 BT
IR AT T, I I W U 7 aeh ww
gfte |/ G et 7 & | ot fersnt &t o 31
qeagETd frota ot fof si-ar/ah-4 frerd fag
MU HAT o ST AHEA 2/, ol &1 S W=
YW AT T 6l SRS A HITTEN

- 1: FIRAAC|
T2 : FB A HAE |
frerd - 1: TR FAE

forsent - 2 @ I o &7 BT T |
fremd - 3: T R AR |

e - 4: R FA R T
forfotfad o 9 iA-T 9 # 2

(a) heel e - 1 3R e - 2
(h) e Forems-2 31 et - 3
(c) ohae forsent - 3 3R -4
(d) AdFEEE 1, A€ 2, A3, A4

ITHA 2, 7, 22, 67,202, X, 1822 F ‘X’ &I AN
TR ?

(@) 603
(h) 605
) 607
d 608
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Q 46.

Q 47.

Q 48.

Half of the villagers of a certain village
have their own houses. One-fifth of the
villagers cultivate paddy. One-third of
the villagers are literate. Four-fifth of
the villagers are under 25 years of age.
Which one of the following statements is
certainly correct ?

All the villagers who have their own
houses are literate.

(@)

Some villagers under 25 years of age are
literate.

(¢) Only half of the villagers who cultivate
paddy are literate.

No villager under 25 years of age has his
own house.

(b)

(@

Consider two Statements and a Question:

Statement-1: The last day of the month is a
Wednesday.

Statement-2: The third Saturday of the
month was the seventeenth day.

Question: What day is the fourteenth of the
given month ?

Which one of the following is correct in
respect of the Statements and the Question ?

(a) Statement-1alone is sufficient to answer
the Question

Statement-2 alone is sufficient to

(b)
answer the Question

(¢) Both Statement-1 and Statement-2 are

required to answer the Question

Neither Statement-1 alone nor

Statement-2 alone is sufficient to

answer the Question

@

Which day is 10th October, 2027 ?

Q 49.

Q 50.
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(@) Sunday
(b) Monday
(¢) Tuesday
(d) Saturday

Consider two Statements
Conclusions given below. You have to
take the Statements to be true even if

and four

they seem to be at variance from the
commonly known facts. Read all
Conclusions and then decide which of the
given Conclusion(s) logically follows/
follow from the Statements, disregarding
the commonly known facts.
Statement-1: Some greens are blues.
Statement-2: Some blues are blacks.
Conclusion-1: Some greens are blacks.
Conclusion-2: No green is black.
Conclusion-3: All greens are blacks.
Conclusion-4: All blacks are greens.

Which one of the following is correct ?

(a) Conclusion-1and Conclusion-2 only

(b) Conclusion-2 and Conclusion-3 only

(¢) Conclusion-3 and Conclusion-4 only
(d) Neither Conclusion 1 nor 2 nor 3 nor 4

What is the value of ‘X’ in the sequence

2,7,22,67,202,X,1822 ?

(a) 603
() 605
(c) 607
(d) 608
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Q 51.

30

fFrrmfeafian 2 (JF) vremiert o forg frrder :

=1 few T 1 uftesel @ ufey 3R uRe=sel & e
3 It TR % IR ST | 3 TR & fon
3T ST hadl 39 U=sel W B e 8

Sl
uf=se - 1

TTae 3R TH.3ME. 4. S waaH favafaae™, 39
IA-T (-3t ) TR AR H F ISk STeATTRI
I G B9 % wesE, ‘T weT 2 (Flipped
classroom)WHﬁﬁ?ﬁﬁ(ﬂW'{%% Tet fareneit
R S difed =T gd €, 3R Fan % gua o
ST T T SIHERT, LA T 1, ISRl
TR =, S A B | WHE 3T == bl Geterd
TR F ¢, SN i s udd 2§
3R 3= VY 31 Rl § 37erd &3rd & St wrifires
1 3 fovafermert 7 3= difear et ®f )
fova o wesh forw Frg[ees Suersy foRen 21 9 gt
ferver o meTferaTer 31 fervaferarer™i sl 39 st
ISR T Tehihd ek 319 STEATH o M
I, AT SATAHATS & SFTET ST Tl bl
TR IHE MR W Uehs) TR i o fow oFf
WeRa e @R |

Frrafeafe & 9 S-T1 S Sudad uR=se &
Fiar feram A waaH ST A AT e ?

(@) IRURE Tght B g | e fRerr geifera
T AT Ggid § fovafaemeEl @i
&THAT Sec BhT |

(b) Torm-eeg | 1 w fopy foarm SR Rven
HeSTl § 3R H o7 H STeTse] 7S ST Fehih |

() TH SR en W Heftg sneniie W= |
iferer et e Sl STavTehal 78l © 3 a9
o, T EeR A SR T g forenfm
FEHAE |

(@) TR f3ren o Froht & o G o we-wiy
AT TEA TH ST ol o o Fohdl & 3R
HA-F ThA ¢ |
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=g - 2

AR R, SHEEA % At G0l iR sroate
M WIS o PRV STodry, URadd & i
TeIfreh GoE § | 36 Sifeifier, S S e
9¢ W &, fhq T4 Sorary uRadd & waer &
foRIeRoT o foTu erit der 1S womedt fererfad et it
1S Ed. ¥ R TR w1 AEE 65% ¢, fhg
STH ST S STEavHehaTeA sl IR 3 o foTe e
o 8 € | 9T ) ToTen, UREed, e, © weEd
THENS W S ¢ Hew@yyl ¢, S foR Humoie
THEM g % Y Seaeash €1 g5 TR A
T % w1 W ARG G s
SMITIHAT & 3R TW WRFEfh o 1 gt el
B ST A T SRSt Bl ORI

SUger URTSE o MR W ufuried, frafafad
B ¥ H-91 Fdifieh qehEd iR faaeyut
foreerd ST AT S ?

(@) TAR TR " T Tl % WY gere
TTH{~Teh LT <l BIFT YT ¢ |

(b) TR el g3t STHESA S, HERvi forehra
T o BHR T | H |

() TR TR % T@-I@E 3R e & fou a4
HURUTI Gael BEAeT i i AaTIhaT 2 |

(d) WA o SMEes LA 3R GERoiEar Geeh
TaEmsl & fau fawm o grasiew-fst
TR U5 Saer <refafe T 7 |
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Q 51.

Directions for the following 2 (two)
items:

Read the following two passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage - 1

The best universities like Harvard and MIT,
despite having the luxury of having some
truly excellent teachers on their payroll, are
increasingly = embracing the  “flipped
classroom” format, where students listen to
video lectures at home, and spend class time
applying their knowledge, solving problems,
discussing examples, etc. Professors guide
that discussion and fill in wherever
necessary, explaining those bits that seem to
be eluding the students and throwing in
advanced ideas that happen to be topical.
These universities have made their video
lectures available free for anyone in the
world. They are also encouraging colleges
and universities all over the world to
integrate these online courses into their own
pedagogy, picking the pieces that are
appropriate for their needs and building a
package around them.

Which one of the following statements
best reflects the central idea of the
passage given above ?

(a) Efficacy of universities would be better
in online mode of conducting classroom
tuition as compared to conventional
method.

(b) Availability of higher education can be
made easier and cheaper without diluting
the content.

(¢) Weneednot invest much in infrastructure

Q 52.
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related to higher education and yet
develop better human and social capital.

(d) Private sector institutions in higher
education as well as coaching institutes
can take advantage of this opportunity
and thrive well.

Passage -2

Our cities are extremely vulnerable to
climate change because of large
concentrations of populations and poor
infrastructure. Moreover, population
densities are increasing in them but we have
not yet developed the systems to address
climate change impacts. Our cities contribute
to 65 per cent of the GDP, but there are not
enough facilities to cater to the needs of the
people. It is important to address the issues
of air quality, transport, etc., that are vital to
identifying sustainable solutions. We need to
involve citizens in city planning and create
an ecosystem that meets the needs of the
people.

Which among the following is the most
logical and rational inference that can
be made from the passage given above ?

(a) Our cities need to have well-defined
administrative set-up with sufficient
autonomy.

(b) Ever increasing population densities is a
hindrance in our efforts to achieve
sustainable development.

(¢) To maintain and develop our cities we
need to adopt sustainability related
interventions.

(d) Public-Private Partnership mode of
development is the viable long-term
solution for the infrastructure and
sustainability problems of India.
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Q 53.

Q 54.

Q5S.

Q 56.

T AT foIsT™ 7 Ueh & o | Ueh & UK
TS U9 3R fagiw Ufaet Tl & fore gam
ST W | I 9T A 3 99 X 5 et
@i, 37 fasra 7 2 U 31k 7 tfaet @i, ot
freafafaa @ S-aTEE E ?

(a) et 1 Hod, U9 o Tod 9 ik ®
(b) O 2R U % Yo TR &

(c) U 1 oo, Uet o ool W T R
(d) U o1 e, Siet o e | for @

Th T H P S Q ¥ 40 37ch 31fereh Ut fehu |
It Q 7 P | 10% hH 3ich UT fohT, dt Q ¥ fera
3 T fepu ?

360
380
400
420

(@)
(b)
(©)
(@

T AT P AN AR A d TR o X 9
BT foh SEeh T fepeT & €1 X F ¥R fe,
“gfe Y 3 40 FATE, A Y U Z | 3T &
e, fehg afe Z 92t 40 SaT €, ot g0 o=t o e
aﬂ?mﬁmﬁ X, Y 3R Z % U et feherat
gqae ?

(@ 420
(b) 360
(¢) 300
@ 270

T# Fe-WmT § ‘MATHEMATICS ‘ &t
‘LBSIDNZUHDR’ & &0 § ferar 5irer 2139
%He uor & ‘CHEMISTRY’ Wl & ferar
SATa ?

(a) DIDLHRSSX
(h) BIDNHTSSX
(c) BIDLHTSSX
(d) DGFLIRUQZ

Q57.

Q S8.

Q 59.

Q 60.
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frafafaa & 9 form g, ot ot & o &t
[E dr fade o §E 3Mud | 180 T hIUT
FATEA ?

(@) 7:00
(b) 7:00 3R 7:05 1 & &=
(c) 7:05
(d) 7:05 3R 7:10 S o s

90 U ATeAt Uk agi+es Tdier W, Ucieh Tet
IR o Tu 5 i Treifta for 1o § ofk uei®
T ST o1 2 3feh TeTe Sa & | |+t 90 Tro=it
T T S W, ek Taamelf =t et 387 3ih U
T T Sl sl W a1 2 2

(@) 9

() 13
(c) 27
(d) 43

frafafaa e (tfeym) & usa w fomm
E!flﬁ-l’Q:

3P + 4P + PP + PP = RQ2; W& P, Q 9 R fr=
CE

T T GHTSH ATl Shl THIA HIET F 2 ?

(@ 102

(®) 120

(c) 202

@ 220

frefafaa e (Afeefaey™) & o9 W
ﬁlﬂﬂﬂﬁﬁl‘@:

(PQ) » 3 = RQQ, ST P, Q 31 R for=1 37 & 3k

R#Z0¢I

(P+R)+ QHHAFFE?

(@) 1

b) 2

@© 5

(@) At el o wror i T fee =
Hedl
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Q 53.

Q 54.

Q55.

Q 56.

Jay and Vijay spent an equal amount of

money to buy some pens and special

pencils of the same quality from the same

store. If Jay bought 3 pens and 5 pencils,

and Vijay bought 2 pens and 7 pencils,

then which one of the following is correct ?

(a) A pencil costs more than a pen

(b) The price of a pencil is equal to that of a
pen

(¢) The price of a pen is two times the price
of a pencil

(d) The price of a pen is three times the
price of a pencil

P scored 40 marks more than Q in an
examination. If Q scored 10% less marks
than P, then how much did Q score ?

(a) 360

(b) 380

(c) 400

(d) 420

A person P asks one of his three friends X
as to how much money he had. X replied,
“If Y gives me Rs.40, then Y will have
half of as much as Z, but if Z gives me
Rs.40, then three of us will have equal
amount.” What is the total amount of
money that X, Y and Z have ?

(a) 420

(b) 360

(¢c) 300

(d) 270

In a code language ‘MATHEMATICS'’ is
written as ‘LBSIDNZUHDR’.
‘CHEMISTRY’
language ?

(a) DIDLHRSSX
(b) BIDNHTSSX
(c) BIDLHTSSX
(d) DGFLIRUQZ

How is

written in that code

Q57.

Q S8.

Q 59.
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At which one of the following times, do the
hour hand and the minute hand of the clock
make an angle of 180 with each other ?

(a) At 7:00 hours
(b) Between 7:00 hours and 7:05 hours
(¢) At 7:05 hours
(d) Between 7:05 hours and 7:10 hours

In an objective type test of 90 questions, 5
marks are allotted for every correct
answer and 2 marks are deducted for
every wrong answer. After attempting
all the 90 questions, a student got a total
of 387 marks. What is the number of
incorrect responses ?

(@ 9

(b) 13

(c) 27

(d) 43

Consider the following addition problem:

P+4P + PP + PP = RQ2; where P, Q and R are
different digits.

What is the arithmetic mean of all such
possible sums ?

(@) 102

(b) 120

(c) 202

(d) 220

Consider the following multiplication
problem:

(PQ) x 3 = RQQ, where P, Q and R are

different digits and R % 0.

What is the value of (P+R) + Q7

(@) 1

®) 2

(c) 5

(d) Cannot be determined due to
insufficient data

PAPER - 11
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Q 61.

34

fFrrmfeafian 2 (JF) vremiert o forg frrder :

= few T T ui=Rel @i afeT i aResel & e
M T YA o STR SIS | 37 weel o foIg
31Tk TR shelel 31 qR=a] 9L & 3 e =Ry |

ufese - 1

1 IS A SIe THI ek ShedI0Teh ! 5T B4 §
I Gl & 7 ST HTAT Bl JUi Y H SR TR
T BN ST Fhal & ? 99K 3R Aehdsd & s
3iafifed o=re foeme 8 | SR Ueh-SAferd-Ueh-Hd
(92 o Ragia T i 78 hd €, ST foh ol §
BT ¢ | IS R IR § 91 o 96 ©, T8 3T
eI, SPISTe, Sha-SifeRd e BT 37R Sufed <t erHar
R 1R el € | SR 3o o Wl SR ShivTet &
el od 8, 3R w8 W « h qHS o e
T W SR f 33T Gk €, g F it B @
ST % fareTd o fore sl srereR 1 7 firet T 2,
TR | TR | 2; U ST WrHra: sgd T el
€ 3R Sgd 31&™ T ¢ STUar T wivret et
STl T ShTh FH T 8 | TSR bl Grord ik
TR WA bt S TRl e Tehdl ®, fohg dSTiame
U Y SRR e =1 wel wi g |

Suea uiteag & weH #, frafafaa yeamomd

ERIERER R,

1. MR Ao SR S R R #=d
& TR & AT T3 9 T |

2. Thdl Sl YHTEl M % oY 3TavTes g
e g oA o = ed € |

3. 3Tie faerme o Uie g2 T ARt o fore TRet
SHIHShHl ol SR S |

SO | W hi-E qHRT / qeeRond A /8 ?

(a) el 1 3R 3
(h) HaA 3

(c) hael2 3R 3
@ 1,233

Q 62.

Q 63.
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=g - 2

AR fornerdi ©, &9 s1ae st W e, T sk
e q BUR U S $% 9 €, 39 aR § T
F9 U ¢ R ST il eiravaehar € | g 1 &|
3% <91 | HER %l e Tel Sfasie  hedee &
TR #, TAN fH % 95 9 e w9 F At
T o GO o IR H, Hfeesti o U Hae-siterd
(Sex dRRfd) & ar ¥ fawew & w9 A
frivaeTe = Gue, afe & SR H RIened € 2 7
o 3a1 & Hewagul € foF o B 3 WA g 6l
R1en <3 €, 312re I hae FehT Wl BAR WA
TEU T i RIS € 2 ferairer™ &l el (higs)
T T TR, ST €, FReR/ Rt T
fervaferemer™ &t S g | T/ € | el 9
forRi, Wl 3R feememst & g5 o o8 Star/s
2 | I8 HehHUT ST 1T g™l Bl Hehal 7, 578 e
TR 3R T HEY FA % ¢ galedited f&mar T
g1

frafafaa & @ wF-a1 wem Suded uiese &
Hefrer feram =t Ha o ©9 | S9Iar g ?

(@) Toaer uemwd S R sinEe @
STURTIS % STHet el ¢ |

(b) ST Il W o o ¥ oA 3
THISTeT o ferehre o fore oo frerar 21

(c) o= I BRI o= o fIT U e,
=Nfey | Rren saen & e et

(d) e AR T o foTe, oA fave =raeen
Siferer foo-aeq & sifaltem, wmfER @ik
ST~ Teeh shigTel &1 HiT 9 w2 |

= foig P, Q 99T R Ueh €A @ W $H UHR
RITEFPQ:QR=3:58I1TCPQ:PR&F
FTeT AT & ST 1 &, af n Tohaah SRR e ?

(@)
(b)
(©)
(@

A W N =
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Q61.

Directions for the following 2 (two)
items:

Read the following two passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage - 1

Can a democracy avoid being a welfare state
for long 7 Why cannot mass welfare be left
entirely to the markets? There is a built-in
tension between markets and democracy.
Markets do not work on a one-person-one-
vote principle as democracies do. What one
gets out of the market place depends on one'’s
endowments, skills, purchasing power and the
forces of demand and supply. Markets reward
individual initiative and skill, and may also
lift many from the bottom rungs of society,
but some people never get the opportunity to
develop skills that markets demand; they are
simply too poor and too handicapped; or skill
formation takes too long. By creating jobs,
markets may be able to help even unskilled
people, but capitalism has always witnessed
bursts of unemployment.

With reference to the above passage, the
following assumptions have been made:

1. Modern democracies rely on the market
forces to enable them to be welfare
states.

2. Markets ensure sufficient economic
growth necessary for democracies to be
effective.

3. Government programmes are needed for
those left behind in economic growth.

Which of the above assumptions is/are valid ?

(a) 1and 3 only
(b) 3 only

(¢) 2 and 3 only
(d) 1,2and 3

Q62.
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Passage -2

In our schools; we teach our children all that
is there to know about physics, maths and
history and what-have-you. But do we teach
them about the bitter caste divide that
plagues the country, about the spectre of
famine that stalks large parts of our land,
about gender sensitivity, about the possibility
of atheism as a choice, etc.? Equally
important, do we teach them to ask questions,
or do we teach them only to passively receive
our wisdom? From the cocooned world of
school, suddenly, the adolescent finds
himself/herself in the unfettered world of
university. Here he/she is swept up in a
turmoil of ideas, influences and ideologies.
For someone who has been discouraged from
asking questions and forming an opinion,
this transition can be painful.

Which one of the following statements

best reflects the central idea of the

passage given above ?

(a) School curriculum is not compatible with the
expectations of children and parents.

(b) Emphasis on academic achievements does give
time for development of personality and skills.

(c) Preparing the children to be better citizens
should be the responsibility of the education
system.

(d) To be a better citizen, the present world order
demands societal and life-coping skills in

addition to academic content.

There are three points P, Q and R on a
straight line suchthat PQ : QR =3:5.If n
is the number of possible values of PQ :
PR, then what is n equal to ?

(@) 1

(b) 2
(c) 3
(d) 4
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Q 64. Teh (oA (IS AS) W Tk Wl T hl TialTs

Q 65.

Q 66.

Q 67.

¥ foreruTt U= 6 SHATTTA ot okl fehd = T Tehe
ot R ST AT e ?

(@ 4
b) 6
(c) 8
@ 12

e fau T aR faereut § 9 ek faehew st sa=iT
w?rgq AU _b_a_ba_b_abab_aab # faemm™=
e o Tt () & 30 W8 W dTfer I 9o,
Teh fafdTee v T STTEROT |

(a) bababa
(b) baabba
(¢) bbaabb
(d) ababab

3@l o WU H 2, 2, 3, 3, 3 T AN &d g4,
30000 & &St frat AT SETd S TSl € 2

(@ 3

(b) 6

(c) 9

@ 12

FrafafEa et w faamr sifse :

1. 5 SHHNTA YUTiehi &I ANTHE 100 B Wehell € |

2. A SHENTA Y-UTTehi AT TUTh 31 TR
% AR B HHAT B |

SRR A W W BT/ T R/ ?

(@) a1
(b) e 2
() 132

Q 68.

Q 69.

Q 70.
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d AWM, A2

1m ST ST Ueh T U1 ST | YT 90 g3
21 3uH fena faferefiet ster & (ursr @it Hied ot
T | ?

(@) 1000
(b) 10000

(c) 100000
(d 1000000

Uk UTeRT o 6 SAfeRT & | Teh 3777 Saferd bl S0 &
3 sfaaat @ 39 UhR o fierran 2 fok ag &
THUTTT STt | B el fHetrm | v fohaa
R S G A BT e ST aad & 2
(a)
(b)
(c)
(d)
WW@TA,B aﬁ'{‘CéEEﬁ?[ﬁ‘p : q:rﬁ?
ruTa | faaRa s g

FrAfeRed oMl | foeR it :

1. AR p, (q+r) F AGF B, A A Sl ewad
3791 foret |

2. IRr, (p+q) AFAT, A C H AT 3
fererm |

U e T W B /- T /e ?

(@) a1
(h) HEA 2
© 1322
@ AWM, A2

o U W
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Q 64. On a chess board, in how many different
ways can 6 consecutive squares be chosen
on the diagonals along a straight path ?

(@ 4
b) 6
(c) 8
@ 12

Q 65. In the series _b_a ba_b_abab_aab; fill in

the six blanks ( _ ) using one of the
following given four choices such that

the series follows a specific order.

(a) bababa
(b) baabba
(¢) bbaabb
(d) ababab

Q 66. Using 2, 2, 3, 3, 3 as digits, how many
distinct numbers greater than 30000 can

be formed ?

(@ 3
(b) 6
(c 9
@ 12

Q 67. Consider the following statements:

1. The sum of 5 consecutive integers can be
100.

2. The product of three consecutive natural
numbers can be equal to their sum.

Which of the above statements is/are
correct ?

(@) 1only

(b) 2 only

(¢) Both 1and 2

(d) Neither 1nor 2

Q 68.

Q 69.

Q 70.
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A cubical vessel of side 1 m is filled
completely with water. How many
millilitres of water is contained in it
(neglect thickness of the vessel) ?

(@) 1000
(b) 10000
(¢) 100000
(d) 1000000

There are 6 persons arranged in a row.
Another person has to shake hands with
3 of them so that he should not shake
hands with two consecutive persons. In
how many distinct possible combinations
can the handshakes take place ?

(@
(b)
(©)
@

An
among A, B and Cintheratiop:q:r.

o U W

amount of money was distributed

Consider the following statements:

1. A gets the maximum share if p is greater
than (q +r).

2. C gets the minimum share if r is less
than (p+q).

Which of the above statements is/are

correct ?

(@) 1only

() 2 only

(c) Both 1and?2
(d) Neither 1 nor 2

PAPER - 11
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Q71.

38

Tratafaa 3 () woaien o fore focr

= few T T ui=Rel @i afeT i aResel & e
M T YA o STR SIS | 37 weel o foIg
31Tk TR shelel 31 qR=a] 9L & 3 e =Ry |

=g - 1

e AR I % SISIRT ek Tge o fo1d, 39T
At (Raeh U€) & @Rl &l SiRgd I3 o; 159
AT U, Toh Ul drel YATTell Stersi o e
e ol 3R T 9 @ | uRkfua fava ot
st @ W I i1 | e gfte @ <@ at gHem
HEEAT Sl GIST & TEa] i WISt i o oY ek
@1 2| faem ol e SEeR TR B =R 9l
Ted B Yl aUaRE sk, e 5= &
formfor € siafket 1 Se A 1 THA HEH 8-
3R GETEAT o FrRe € 98 S

frrefefeaa B | -1 wer Suded uiese o
HeTaH R E ?

(a) TrEt ft OE W= i SeRT O W
Yo FLAT AT S |

(b) 3idfer BHR el sreferarwen i R S,
R o8 9R Hed | fawme siaie B stua
STARTARGIT JARET |

(c) T TAA: SNk Mfawhet o foTe =1 el &t
el 3 o I IR B € |

(d) FS AN SRGH T H FTER & &7 Gor
T MR BT S |

=g - 2

Rl ol ST, Sel U e 9 st B
BT, S-S Sieil TTaid € | T8l aeh T
Taiferes Ferare! @ GWed: g WR STE derd §,
e sref-fervroren (Rywifeer) Sreedt WA T Wehel €,
I WE-WAN § F AE0 § 9 Bl €, S
FHRIT AT B 2 1

Q72.

Q73.

Q74.

Q75.
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T U= & uay 3191 H, fora faem =t Seeia
feraT e ?

(a) 3T ST & Goiel | ety
(b) 3T T o Gaie o STl
(c) T & Gay H rEeHfa
(d) T e W B arel B o Heer o st

frrafefaa & @ -4t 3Ted e @l o sgen
ST E ?

(a) T 3R 3T ! i3 HE

(b) T T ST o TN T a3
(c) a1 e

(d) T YU fara

Teh g (T2 3T, ATFE IR | WS, STet
AT 3T YT Aeall oh UTq9TareT (orauT SRl G9ITar
21 oe T e 2 6 T 16% & qem STet 70%
B 1S a9 ST Y5k aed - S ol fHeTet
p% &, A gARE H p w fEid wE are
Freuge (YY) S T fhae ?

(@) 54
(b) 96
(c) 108
@ 120

% Tl | Uedeh 59 foe ST €, 76 ueieh
243 T STt 2, STelfeh Gitrer weies 96 fot iar
21 afe weft A=t feredt TR @ worer | faet,
i e e T 7

(a) FHER
(b) FHAR

(c) TeHfdaR
(d) Taar
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Q71.

Directions for the following 3 (three)
items:

Read the following two passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage - 1

Medieval merchants risked the hazards of
the Silk Road to reach the markets of China;
Portuguese caravels in the 15th century
sailed beyond the bounds of the known
world, searching less for knowledge than for
gold and spices. Historically, the driver for
opening frontiers has always been the search
for resources. Science and curiosity are
weaker drivers. The only way to open up
space, whether the space of solar system or
interstellar space is to create an economic
engine and that engine is resource extraction.

Which one of the following statements

best sums up the passage given above ?

(a) Wealth generation is the primary motive
for any human endeavour.

(b) Space, whether space in solar system or
interstellar space, economy. will govern
our future

(¢) Human beings are motivated to explore
new frontiers principally by economic
considerations.

(d) Wealth generation is based on the risk-
taking behaviour of some men.

Passage - 2

“. most people would agree that telling
deliberate lies is wrong, except perhaps in
certain special situations where more harm
will be done by telling the truth. Even the most
truthful people probably tell a good many
more lies that might be regarded as semantic
lies; their use of words contains some measure
of falsehood, more or less deliberate.”

Q72.

Q73.

Q 74.

Q75.
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The idea which the first part of the
passage mentions is-

(a) agreement about telling lies.

(b) disagreement about telling lies.

(c) disagreement about telling the truth.

(d) disagreement about the harm in telling
the truth.

Which one of the following habits is

found more often in good people ?

(a) Mixing up the true and false

(b) Intentional mixing up of truth with the
false

(c) Falsification of facts

(d) Complete concealment of truth

A pie diagram shows the percentage
distribution of proteins, water and other
dry elements in the human body. Given
that proteins correspond to 16% and
water corresponds to 70%. If both
proteins and the other dry elements
correspond to p%, then what is the
central angle of the sector representing p
on the pie diagram ?

(a) 54

(b) 96

(c) 108

(d) 120

Joseph visits the club on every 5Sth day,
Harsh visits on every 24th day, while
Sumit visits on every 9th day. If all three
of them met at the club on a Sunday, then
on which day will all three of them meet
again?

(a) Monday

(b) Wednesday
(¢) Thursday
(d) Sunday
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Q 76. ek 2 3iehl aTeil AT T 3 3iehl & WIHT &l Q 78. Ife fordt aeg s Gea & 20% FIEA BT € 31X fife

Q77.

40

TR SIS R UTW B aTel T &l 3Tav 54 7 |

frfefed oMl R fomr Hifse :

1. TH G % SFl 37kl 1 AMTHS shael 9t
f1ehTetl ST Tehdl © ST9 ST 37shi ol TUHh
A

2. TH HEA % ST 37hi o s o 37 ol fehTe
EIRCIES

SO Yl | W HH-T/ BIF-H T R/ 2

(@) a1

(h) HEA 2

© 1322

@ A, A2

X Y ¥ &el, ‘31U S o §HT W g
AU TAHTT ST sl g oft)” afe X &
AT Y 42 a2, o e st W
forem ifsu

1. 89d Ugdl, X Tl A, Y i 31 i = 7om < |
2. 14999E, X 6l 3, Y I 3 G EAT |
SO Y | W HH-T1 / BIH-H T R/ 2

(@) a1

(h) HaA 2

© 1322

@ A, A2

Q 79.

Q 80.
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TG H 25% Jfeg Bt €, A Iod § e uRads
fraTgane ?

@ 0%

(b) 5% Frg+-++

© 5%%d

(d) 3AT HAfehel & o i T fee =
bl

STt feret iy weam st 7 § Tom fwam e,
UTHHE H YU B § hael Teh ol 37k (1111...)
Tt grar 2 | Tt ergan Gem wia-d e ?

(@ 15713
(b) 15723
(c) 15783
@ 15873

Uk e Tt st & 7/8 2f9T Rt 21 fea dqar
AT | AfS el i’ H 50% @ o ghg e
T, O SH 39 I sl THAT ol | foha fa
R ?

(@) 24
() 21
(c) 18
(d) 15
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Q 76. The difference between a 2-digit number Q 78.

Q77.

and thenumber obtained by interchanging

the positions of the digits is 54.

Consider the following statements:

1. The sum of the two digits of the number
can be determined only if the product of
the two digits is known.

2. The difference between the two digits of
the number can be determined.

Which of the above correct? statements is/

are correct ?

(@) 1only

(b) 2 only

(¢) Both 1and 2

(d) Neither 1nor 2

X said to Y, “At the time of your birth I

was twice as old as you are at present.” If

the present age of X is 42 years, then

consider the following statements:

1. 8 years ago, the age of X was five times
the ageof Y.

2. After 14 years, the age of X would be two
times the age of Y.

Which of the above statements is/are

correct ?

(a) 1only

(b) 2 only

(¢) Both 1and?2

(d) Neither 1 nor 2

Q 79.

Q 80.

PAPER -1I
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If the price of an article is decreased by
20% and then the new price is increased
by 25%, then what is the net change in the
price ?

(@) 0%

(b) 5% increase

(¢) 5% decrease

(d) Cannot be determined due to insufficient
data

When a certain number is multiplied by
7, the product entirely comprises ones
only (1111...).

What is the smallest such number ?
(a) 15713
(b) 15723
(c) 15783
(d) 15873

A man completes 7/8 of a job in 21 days.
How many more days will it take him to
finish the job if quantum of work is
further increased by 50% ?

(a) 24
) 21
(c) 18
@ 15

41



